KDC-W707/W707Y

EXPLODED VIEW (UNIT)

S

= 2

241
>0

278

223x2

1
A M2x2 - N09-4400-15
B M2x2.5 : N09-4401-15
C S2x4 : N09-4427-15
D M2x2.5 - N09-6341-05
E M2x1.8 - N09-6342-05
F WASHER 1 N19-2154-04
G WASHER : N19-2155-04
H WASHER 1 N19-2156-04
J ERING : N29-0522-15
K E RING : N29-0523-15
L S2x2.5 - N38-2025-48
M S2x5 - N80-2005-48
N M2x10 - N09-6343-05
P S3x5 - N83-3005-48
Q S2x4 : N09-6328-05
R S3x8 : N83-3008-48
S S3x10 : N80-3010-48
T S3x16 - N83-3016-48
V S2.6x6 - N86-2606-48
2

1)
pi: G%z
’7-/1

233 "
248 5 { 257

268

271
AN

34

Parts with the exploded numbers larger than 700 are not supplied.

251\®

220 “xDepends on the model. Refer to the parts list.



